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NEW QUESTION 21

Which two methods can you use to create or modify Oracle Cloud Infrastructure (OCI) re-sources? (Choose all correct answers)

*  Secure Shell (SSH)

*  Remote Desktop Protocol (RDP)

*  Serial console connection (SCC)

*  OCI REST APIs

*  OCI Command-line Interface (CLI)

NEW QUESTION 22

Which tool is provided to support Continuous Integration/Continuous Deliver (CI/CD) work-flows?

*  Database Actions (including real time SQL monitor)

*  ADB console (including Performance Hub)

*  SQLcl (including Liquibase)

*  SQL Developer (including ADB wallet)
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NEW QUESTION 23

The Demand Side is data that is active and does something. What two data services are typi-cally part of the demand side? (Choose

all correct answers)

*  Inert algorithms

*  Authorization

*  Payloads

*  Data Models

NEW QUESTION 24

What three typical data types/models are covered by Oracle&#8217;s Converged Database? (Choose all correct answers)

*  Images

*  Graph

*  Relational

*  Events

*  Terraform

*  Spatial

NEW QUESTION 25

The DBA has determined that number of OCPU assigned to an Autonomous Database does not provide sufficient performance.

Which option does the DBA have in this case?

*  Open the database in OCI Console and increase the number of OCPU. No downtime required.

*  No downtime is required as number of OCPU can be increased from OCI console, but users have to be informed that they must

not use any application for at least one hour.

*  Call Oracle Cloud Support and raise a request to increase number of OCPU. Expect a downtime of approximately one hour.

*  Plan for a one-hour downtime and increase the number of OCPU while database is of-fline.

NEW QUESTION 26

What is a main feature of APEX&#8217;s low code platform?

*  Use graphical interfaces and configuration for building web applications

*  Simplified core-based licensing

*  Limited productivity

*  Build scalable web apps for MongoDB

*  Use traditional computer programming paradigms

NEW QUESTION 27

What is a prerequisite of running APEX on an Autonomous Database?

*  A DBA must enable ORDS first.

*  APEX can simply be installed by downloading the executable from OTN.

*  APEX can only be used when selecting APEX as a workload when provisioning an Au-tonomous Database.

*  An Autonomous Database with the workload type Data Warehouse, Transaction Pro-cessing, JSON or APEX.

*  A DBA must create APEX admin and APEX users first before starting APEX from Oracle Cloud Infrastructure Console.

NEW QUESTION 28
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Oracle ExaC@C brings the Oracle Cloud to the customer data center. The Oracle Cloud In-frastructure is the same, but

responsibilities are adjusted so that customer can perform which two tasks? (Choose all correct answers)

*  Secure access configured to the customer network.

*  Operator Access Control can terminate Oracle operator connections.

*  Allow only the Oracle Staff to perform control access.

*  Allow network connections in the Oracle public cloud.

NEW QUESTION 29

Which is NOT a resource type for NoSQL Database Cloud Service?

*  Nosql-keys

*  Nosql-indexes

*  Nosql-rows

*  Nosql-tables

NEW QUESTION 30

Which two are key characteristics of Oracle Autonomous Database? (Choose all correct an-swers)

*  Oracle manages everything

*  Less automated

*  Higher cost

*  Customer manages everything

*  Lower cost

NEW QUESTION 31

What are three platforms where Oracle&#8217;s Autonomous Database service can be deployed? (Choose all correct answers)

*  Oracle Public Cloud at Customer

*  Oracle Cloud Infrastructure

*  Dedicated Region Cloud at Customer

*  Hybrid Cloud Configurations

*  AWS Cloud at Customer

NEW QUESTION 32

What are two important reasons to upgrade and patch? (Choose all correct answers)

*  Restructure the database

*  Security

*  Validation of application

*  Support Compliance

NEW QUESTION 33

Which statement is true about moving virtual machine (VM) database (DB) systems fro one compartment to another?

*  You can move VM DB systems from one compartment to another by only using Oracle Cloud Infrastructure REST APIs.

*  You do not need access permissions to the compartment that the resource is being moved to when moving VM DB systems to a

different compartment.

*  You have to move dependent resources like Database Homes and databases to the des-tination compartment before moving the

VM DB system.

*  You can move DB systems to a different compartment if you have sufficient access permissions to the compartment that the
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resource is being moved to, as well as the cur-rent compartment.

NEW QUESTION 34

Which security measure is implemented out-of-the-box, and is included if you are not using BYOL licensing with Exadata

Cloud@Customer?

*  Audit Vault and Database Firewall

*  Oracle Native Network Encryption and TDE (Transparent Data Encryption)

*  Oracle Key Vault

*  Database Vault and Data Masking Pack

NEW QUESTION 35

In order to support multicloud strategies, what is offered as an industry first by Oracle?

*  Private and public cloud network

*  Oracle FastConnect

*  Dedicated cloud region

*  Cloud databases

NEW QUESTION 36

What connections to multiple public clouds are provided through 3rd party connectivity?

*  Megaport Cloud Router (MCR) and Virtual Cross Connect (VXC)

*  Layer 3 and FastConnect

*  Virtual Cloud Networks (VCNs) and Amazon Virtual Private Cloud (VPC)

*  FastConnect and Direct Connect

NEW QUESTION 37

What is NOT a feature of the Oracle Autonomous Database to protect data from external and internal threats?

*  Data is encrypted

*  Admin passwords are disabled after provisioning

*  Security updates are applied online

*  Protects data from admin snooping using Database Vault

NEW QUESTION 38

What are two main benefits of Oracle APEX? (Choose all correct answers)

*  Rapidly develop, customize, and deliver secure applications

*  Store data in PL/SQL objects

*  Faster development time using hand coding

*  Less productivity compared to hand coding

*  Develop responsive web apps

NEW QUESTION 39

Which three are prerequisites for using the MySQL Database Service? (Choose all correct answers)

*  You must create a tenancy and be able to sign in to it

*  You must install the downloaded MySQL version onto Oracle Cloud Infrastructure.

*  You or your group must be granted the policies described in Mandatory Policies.
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*  You must download the latest MySQL version from https://edelivery.oracle.com/ You must create a compartment to store your

resources

NEW QUESTION 40

Which workload CANNOT be run on Oracle Database 19c?

*  Machine Learning

*  Translytical

*  Gaming

*  Hadoop Clusters

NEW QUESTION 41

Which statement is true about MySQL Database Service?

*  Its users are responsible for database and operating system patching tasks.

*  It supports MySQL Enterprise Edition version 5.7 with InnoDB Storage Engine.

*  It is a public cloud service built on MySQL Community Edition.

*  It is a fully managed Oracle Cloud Infrastructure (OCI) native service.

NEW QUESTION 42

Which two statements about ORDS are true? (Choose all correct answers)

*  ORDS is a low code development platform to build responsive applications.

*  ORDS stores, manages and indexes JSON documents

*  ORDS makes REST APIs in the Oracle Database available.

*  ORDS creates servlets for the Data Dictionary
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